Answers to Practice Exam 2:

Consumption:

1. a.  As shown by Modigliani, C = (W + b(Y-T)
b. No – just that people consumption smooth from their wealth
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2. Using Fisher’s Intertemporal Choice Model, use a graph to explain the following (be sure to label all aspects of your graph):
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Overall the decrease in Y2 causes both periods consumption to decrease.

Aggregate Supply and Aggregate Demand
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Oil prices ( cause U (, PL( and Y ( in the short-run

In the long-run, the fed can increase AD to combat unemployment – which would return to (Y at a higher price level.

3. Deriving the IS curve:

AS=Y = C + I + G=AD

C = C(Y - T)

I=I(r)

AD = C(Y-(T) +I(r) +(G

Now, we have two endogenous variables: Y and r.

We assume that P is fixed in the short run and are trying to see how output/income are determined.

Y – (a + b(Y - T)) – G = I(r)

Y – a - bY + bT = I(r) + G

Y(1-b) = a + I(r) + G – bT

Y = ( 1 / (1 – b ) )*( a+ I(r) + G – bT)

Thus, (r causes I( and Y(. We have a negative relationship between the interest rate and the level of income in the markets for goods and services.
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The IS Curve

(1) The IS curve summarizes the relationship between the real interest rate and the level of income in the goods market.

(2) The IS curve is drawn for a given level of fiscal policy.

Deriving the LM curve:
Higher levels of income mean more consumption and more consumption imparts a need for more money balances.

(M/P)d = L (r, Y)
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An increase in income shifts up the money demand. Given a fixed ((M/P)s, the interest rate rises. Thus, higher levels of income correspond to higher interest rates.

Demand for real balances is also a function of income.  

An increase in income causes an increase in the demand for real balances to finance additional consumption.

The increase in Y causes the money demand curve to shift up.

The result is an increase in the interest rate given a fixed money supply.

Thus, in the money market, higher levels of income correspond to higher interest rates.

4. If the marginal propensity to consume is 0.90, use the Keynesian multipliers to predict the impact of 

a. (Y = (G*(1/(1-mpc))

(Y = 150*(1/0.10)

(Y = $ 1500 billion (increase)

b. (Y = (T*(-mpc/(1-mpc))

(Y = (-150)*(-.9/.1)

(Y = $ 1350 billion (increase)

c. (Y = (G(1/.1) + (T(-.9/.1)

1000 = (G(10) - (T(9)

If the change in AD should be 1000 and G = T, then G ( by 1000 and T ( by 1000. 

5. Three pieces of information are given in this problem:  The number of students (P) is equal to 1000.  We know that people can either be single or dating; thus P = S + D where S represents single and D dating.  Thus, the “dating rate” is given by:

P = S + D

4000 = S + D

In addition, we know that in equilibrium, the rate of relationship “finding”, f, is .10 and the rate of relationship “separation” is .05. Therefore, that is .10S = .05D or 2S = D.  

Substituting all of this information into the above equation gives: D = 4000 – S, so

0.10S = 0.05*(4000 – S) 

0.15S = 200

S = 1333.33.

Thus, the steady state number of students dating is equal to 2666.66.

6. Solow Residual is given by:

%(Y = (1-()*%(L + (*%(K + %(A

Here ( = 0.3, %(Y = 2.5%, %(L = 0.6%, %(K = 2.6%

2.5% = 0.3*0.6% + 0.7*2.6% + %(A

%(A = 2.5% - .18% - 1.82% = .5%

7. Using the following production function
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a. Yes – at rate g = 2%
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